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o Attempt- 'any- five questions.

AII questions cérry equal marl;s 15 m.arks each.
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| b, “The peribd of 200-3-'04 to. 2013-14 may be divided into two

more or less equal phases the first, a period of high growth
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with low inflation and the second, one of low growth with
wit

high inflation.’ Explain the factors responsible for the ‘Great
a

Reversal’. Also discuss the policy interventions required to

revive growth. 1045

I8 2003-04 3R 2013-14 & e B FACE

'ﬁaﬁa)aﬁﬂfs%m%ﬁawﬁm.m

& WA H G g H form smeEE fifem wwEd

% w= iR |
Or/(3TUA)

‘The overall macroeconomic picture in India has not been

bright since 2011.” Review recent macroeconomic developments

in India. Discuss the policy agenda for the recovery of growth

trajectory. 2

§ gy ¥ A e w1 ol i
Review the developments in India's trade over the last decade
vis-a-vis global trends and analyse the changing direction and

composition of India’s exports and imports. Discuss the

strategic steps that can contribute to correcting the growing

trade imbalance. 10+5
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“With outbreak of the global financial crisis in 2008 the debate

has reached a flashpoint prompting the academics and
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policymakers to question the wisdom of unfettered financial

globalization.® In light of this statement, provide a detailed

analysi ia’
nalysis of India’s pattern and experience of financial

globalization.
15
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‘It is ironic that in a éountry with nearly 470 million workers,
all evidence indi;ates extreme apd even increasing reluctance
of Indian entrepreneurs to gmploy unskil]éd- workers.” Critically
examine the role” of complex labour laws in context of the
absence of large-scale firms én the labour-intensive sectors in
India. Suggest some reforms that are urgently needed in the

labour legislations. 15

(5 ) 988
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‘In principle, stock operations should be an infra-marginal
transfer; as such they -should not be a cause for food price
increase.’ Evaluate India’s agricultural price policy/food grain
management policy in terms of its impact on food security

.

as well as profitability of farming (in wheat and rice). 15
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Discuss the dynamics and sources of productivity growth in
Indian Agriculture. What policies should be followed to achieve
an ecologically and economically sustainable agriculture ? 15
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*“The objective of modern anti-trust is to prevent market players
from restricting competition in ways that are harmful to
efficiency and consumer welfare.”™ In light of this statement,

provide a critical analysis of ‘The.Compt’:tition Act, 2002’
discussing its strengths and limitations.
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Review India's experience of the recent

15

988
trends and patterns

folio

in foreign di'rect-investment (FDI) and foreign port

investment (FPI) flows. Has India been able to harness their

development potential fully ? Justify your answer. 15

waﬁéﬁﬂﬁﬁw(wwﬁ)ﬁﬂﬁﬁﬂtﬁéﬁ%ﬁ
by (o) S W wE @ F wah s
@ﬁw%a&uﬁﬁw&naﬁmlﬁmm
H frw @vEEel @ g e | [ed H THEA
U ¥ ? I S ow Sl fag wifsm

‘Services have been a critical part of the overall economic
reform and liberalization process in India.’ Discuss the trends
in growth, empioyment, trade and capital flows in India’s
service sector in recent years. Examine the case for further
liberalization of the service sector to yield sector-specific and

economy-wide gains in terms of growth export, efficiency and

competitiveness. 1045
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countries of the world,

(b)  Discuss the significance of the Human Development

Index as a measure of wellbeing. 7

FSAV & Teh A9 & 9 § TF9 fHas qaFF
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Des<_:'ribe the main features of economic reforms in India and
China. Explain why India has failed to achieve labour intensivé
industrialization unlike China. 15
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-The Solow prediction of unconditional convergence does not

hold empirically. Does the weaker hypothesis of conditional

convergence help to prove that the poorer countries tend to

show a higher rate of growth as predicted by Solow ? 7.8

e @ fr wd s w faspemi e H
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(@) Outline an endogenous model of deliberate technical
progress assuming a fixed supply of human capital,
bringing out how it is an endogenous model. 7.5
e ISt w1 ffyEa smgfd = wma gu awAret
TId & T fa=ryE® #@ed & TR@ TGN

Sy SR gvlee fF o7 ww s=rla wew 39
g 2

()  Explain a mechanism to quantify technical progress as

a residual in the growth equation and examine its

drawbacks. 75
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The economy of Ginisen has ten people and two sectors
(traditional and modern). In the year 1995, three people live
in the modern sector and earn $ 2000 per month. The rest

live in the traditional sector and earn $ 1000 per month. As

- a result of new investments in the modern sector during the

2000s, two people moved out of the traditional sector by year

2015 to take up new jobs in the modern sector :

(@) Calculate the Gini coefﬁcient- (GC) and coefficient of
variation (CV) of the income distributions in 1995 and
2015 relSpectively. Without drawing the Lorenz curves,
discuss the inequality rankings and a specific feature

that these Lorenz curves would depict. 12

(b)  Suppose the poverty line is $1500 per month. Compute

the poverty gap ratio before and after the change. 3
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(@)  “Measuring poverty at the local level is straightforward,

at the national level it is hard but manageable, but at

the level of the world as a whole, it is extremely

difficult.” Discuss. 8
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(b)  Discuss the dynamics of wealth - inequality in Europe

and the US in the 20th century, Fi
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e W wh wif,

Neither the state nor the market is uniformly successful in .

enabling individuals to sustain long-term, productive use of

natural resource systems. Discuss using examples from game

theory. 15
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i different primary
i the linkage effects of I
Explain how
mmodities can both stimulate growth as well as cause
co
' 15
immiserisation.
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Attempt any five questions.

Use of noﬁ-programmable scientific calculator is' allgwed:
| ol arar 9wl % W ?ﬂfmx
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1 Suppose a firm hiring for a new -job k_n_ows that there are
tw-ol groups of applicants ‘of roughly equal ﬁropdrtions. One
-group hgs a prodl;ct.ivify' of 2 and the "ot-he..r-of 1. Further

suppose that the productivity levels are immutable and the
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01
employers cannot readily distinguish which applicants are fr(;m

which group. Employers come to believe that “applicants wig,

at least e* years of education are the ones with productivity

2 and that those with less than e* years are ‘in the lower

productivity group:
(@)  If additional schooling does not enhance préductivit)-z,
under what cc_)nditi'on- would requiriﬁg the sigr;al e*
~ help distinguish between the two groups of
applicants ? ,‘ , | vy 2
(b)) What is the impact- of eidhcation being costless ?
Discuss specifically the role that psychic costs of

~ education play in enhancing the uscfulness of this

signaling model. ; 3

(¢)  Assume that each year of eduaction costs C for those
with lower productivity levels and C/2 for those with
higher productivity levels. Using an appropriate diagram

-explain very briefly the choices of the years of education
that both groups will make by taking into account their

lifetime earnings. . S 5

91
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(d) Show that using any years of education e _

5
the required signal cannot bc socially optimum.
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Consider two households A and B with the following
inforr'nation :

-Household A Household B
Total Income |- Rs. 10,000 Rs. 5000
Household Size I10 5

Which household is richer compared to the  other
household ? Elucidate your answer giving the economic

theories. i b 3

{( 5 ) 91

(h)  What, according to Deaton and Dréze (2009), are the

reasons for the decline in per capita calorie intake in

India ? 12

(@ & MR Aq9 B & =R ¥ Fefafad s=wm
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Suppose there is a population of individuals whose number
is normalized to one. Let n € [0,1] be the fraction of individuals
who are immunized. The probability of contracting an infectious

disease is given by p(n)=p(I-n)°, where p, is the probability

BETO.
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of contracting the disease when none in the Population g

immunized. Assume that the vactination provided js fully

effective. Individuals are identical in all aspects‘ang the cost

of illness is assumed to be the same across

all individuals

and is equal to one. The marginal cost of the vaccination

is a constant c.

(a)

(b)

(c)

Derive the private and social marginal benefit. What is

the relationship between the two ? 6

Show diagrammatically the private optimum and the

. . 4
social optimum.

ent/
What are the possible reasons that make governm

; . _ ;
' - - (?
policy makers pursue full immunization -
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(b)
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Consider a life-saving drug X to control the spread of

malaria. The government is the sole supplier of this drug

. and provides X, amount of this drug at price P, The

linear demand function for the drug X is D (X) = o (P).
To incentivize the public to consume fnore of drug X,

the government gives a subsidy of S rupees on this

drug. Let the price after subsidy be P,.

PT.O.
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() I\mju\‘. the eftect of this subsidy on the demang
for immunization for malaria, when the demang
function is as given above. 3

¢ How will your answer change if the demand for
drug X is prevalence clastic ? Discuss the feedback
effect of subsidized preventive actions of the
government. 5

What are the effects of varying quality of medical care

services on the demand for these services ? 3

Calculate the Index of Dissimilarity of males and females,
given the information below : ' 3
Occupation Males Females
A 40 20
B - 40 25
c | 20 25
Total | 100 70

(«)

(b)

091

Sfte e gar X W faEmr #if ) @R 3|

SAR W THEAE Sfdhdl & SR T P, T
T A w X, AT SYeeH HAA el ST

X & fore ¥elg |\ wed D (x) = d (p) B I,
X &1 s STHM HA & fou SHar 1 g
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(®)
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( 10 ) 1

(o Trefafen gEmel & MR W TEW qen wfwensi

% AU swmra gEEE w0 wifg

T & wfeerd
A 40 2
B 40 25
c 20 25 -
g 100 70

Calculate Human Development Index (HDI) with the

following data : Life éxpectancy (years): 79.3, Mean

years of schooling : 7.9, Expected years of ‘schooling:

13.8, Gross National Income: (2011, PPP $) 16,509

[Hint @ In (75000) = 11.23; In (100) = 4.61;

In (16509 = 9.71; 3/0.4539=0.7685] ' 3

While creating the dimension index for a decent standard
of living, why is the natural logarithm of income being

used ? 2

Comment on the causal links between health and

education, both from intra-generational and inter-

generational perspectives. ' 10

(a)

(b)

(©

6. (a)

( 1) %1
freafafea ofwel #1 TWemar § AMa fawE
EHE H A AT ;S g (o
#): 793, Thelt foen & wWer @@ 7.9, el
ﬁﬁ&ﬂ F oraferga asf: 138, GF@ U
3™ : (2011, PPP $) 16,509 (9T In (75000) = 11.23;
In (100) = 4.61; In (16509) = 9.71; 3/0.4539=0.7685 }
7 SeE 9 @ U @ fu oTEm g
TR O, o B wufah g H T
i fEa s €2
R e ML R
s fen & g FRO-wS & AR A fewol
o |

Ashok, age 40, is suffering from cancer and hence he

values his life ;n 0.5 of a healthy year. He has two
choices :

Cho.ice 1: Don't go for any tr;atment.

Choice 2: Go for a treatment which will provide him

full health with probability 0.7, but might result in his

death with probability 0.3.
- PTO.
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(a)
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( 12 ) 9]

He is expected to live up to 80 years. What is th
S the

probability that would leave him indifferent between

choice 1 and choice 2 2 3

Explain briefly the three methods used for valuing the

benefits of health projects. 12

e, g 40 T, B Y G ¥ AR
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(a)

(®)

©
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Suppose that MRP,; =40 - 0.5L for left-handed workers,
where L = the number of left-handed workers and MRP,
is measured in rupees per hour. The going ‘wage for
left-handed workers is Rs. 20 per hour, but employer
A discriminates against these workers and has a '
discrimination coefficient, D, of Rs. 10 per hour. Graph
the MRP, curve and show how man‘y Iel;t-handed
workers employer A hires. How much profit has

employer A lost by discriminating ? P

Give reaso.ns why it is suspecfed that the estimated
rates of return on investments in education might be
upWard biased. _ 4
Analyse the effect of an increase in demand for fresh’
engineers under the framework of the Cobweb Model
of labour market adjustment. ._What happens to the error
in adjustment when -agents follow rational expectations
instead of purely myOpic. expectations? [Hint : Engineefing
is a four-;IJear Lprogram.] - 5
T i R A e & wE w0 A st
% fo MRP =40 - 05L, ST L = I ®Y F
HE FA A AHEI H OGS AT MRP, &
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India has come close to achieving universal enrolment
rate in recent times, yet the learning achievements at
both primary and secondary schooling levels are very

low. Critically analyze. 10

91

(h)

(a)

(b)

( 5 ) 991

Explain why present-oriented people are less likely to
invest in education than forward-looking people (ceteris
paribus) ?

5

gYRd T & oA # addifge A e @

g R % GHig o T w, e o a1t
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Attemptlany five -questions. |
The Distribution of marks is given with the question.
ot urer gl & s difsuy
Rl w1 famo weAl & Wy fea@ gen ¥
8 (@) What is the.'Residency Critel‘i.on' recommended in Third
Wofking Grbup Financial Agg.regatés ‘7 -5
(.b) Explain how money multiplier c-an bg made invariant to

changes .in .CRR ? ‘ 3

(¢) Differentiate between Exogenous, and Endogenous’
money supply curves. What impact will a rise in
" monetary base have on. these curves ? 6

(d) Discuss the Banking System determinants of money

supply. : ' 4

PTO;
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(W)

()

(©)

(d)

(a)

(6)

{ 2 9 995
fadiia sl W g wrioge g wd Sre
HURUS  (Residency Criterion) oFIT T2 a
BSEEICRED Hal T8 (money multiplier) &1 fohg

YFR CRR ® URadal & ufq omfadsa s
S Hehdl ©7

SR (Exogenous) &  3T=ISid (Endogenous) HSI
A =% ® W =R W Hifwu| OfEs
HHR (monetary base) | q’ﬁz HT 39 Thi T T
Y9 TS ?

T & emgfd @ e yumet @ wfem
frull @1 fga=m wifsa

Analyze the impact of imperfect information on lending
decisions of banks. In this respect, describe thé_ various

strategies employed by banks to counter the problem

of asymmetric information. 10

The Central -Bank maintains a monetary base of INR
3,50.000. Banks are mandated to keep 20% of deposits
as required reserves. If banks keep 5% of their deposits

as excess reserves and public holds 25% of their

(@)

(b)

( 3 ) 995

deposits as currency. Calculate the total stock of money

in the economy.

- If Central Bank sells IN[{ 100,000 worth of securities

through open market operations, what will be the change
in money stock, deposits and curréncy holdings ? 5
Ji & s froldl W oeTqel ¥EAT FO9EE
F1 fovomo Fifea | 39 @<d #, @Al
(asymmetric) T & ﬁWUT § S gN gAY
s ot fafey woeifad @ SR

= T 350,000 T H OHisH SER FAQ
TEal ¥ T ¥ STUA SEIST (deposits) T 20%
ATETHh syferat (required reserves) % dR ™
o sitEd ¥ gk % ATt e H1 5%
Eﬂm S| (excess reserves) % 4R W T
£ Qo ST STIAT SIS T 25% TS (currency)
2 w7 § R ¥, A wdermEn F oW W
Fd Ve T HIoTI

afz S=1g F% 1,00000 T H AR @
@ﬁa‘[ﬁﬂﬁm%,ﬁ@%m(monw
stock), STHTST  (deposits) & SHAI & UTH
JqASH Th< e (currency holdings) H =1 gfiiadq
TR ?

PO,
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(b)

(a)

()

(4 ) 995

What are the varioys categories of financial innovations ?
Further assess the phenomenon of asset securitization
as a financial innovation. - ‘ 10
What factors cause financial crisis in Financial Markets?

Does it provide a rationale for government regulation

of financial markets ? 5.

IEGIREECIEI] (financial innovations) @1 fafirs
Siftra T~ €7 uftamfy BT (asset

-securitization) Ca we T @ fasig TaER % oR

T HAHE Fifeq

forfa st # fadfta W% (financial crisis) T&
FEE B BRI B R w gw g
TR % TR} ﬁ?mq (government regulation)
Hfe (rationale) YN WT %7

"The preferred habitat hypothesis combines the key
fa ' : |
‘eatures of both the expectations hypothesis and the

segmented markets hypothesis_" Comment. 10

Assuming the interest rate in 2016 on a one year CD

is 5% .
% On a two year CD ig 4% and on a three year
CD is 8, ‘

(a)

(b)

95

(1)  Comment on the shape of the yield curye,

(2) Use expectations hypothesis to determine market's
forecast of one year rate, in year 2017

(3) What is market forecast of one year rate
in 2018. 5

“arfumtr qaferg aftwer (preferred habitat

. hypothesis) HARN ECICEll (expectations hypothesis)

9 JHFRd SN R&EIT  (segmented markets

hypothesis) % T&A W& HI wAfwa Fw 21"

7wy W feooft =il

H‘a’ﬂﬁ%@ﬁzmsﬁmaﬁﬁcom

=S T 5% &, T9 B CD W 4% & T

d oo H D W 8% ¢ |

(1) i aF (yield curve) Fr amEHia W T

T | |

0) qerren WRERET W, e ¥ "SR g
5017 F. wH T W W F RGN T
(forecast) 1 U T |

) wmzmsﬁwaﬁﬁmmqﬁﬁ%
A N ®?

3
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(a)

)

(a)

(6)

( 6 ) 995

With reference to the capital requirement norms,
discuss how Basel 1l is an enhancement

over Basel II. 10

Explain the recent developments and reforms in" the

Treasury Bills Market in brief. 5

ISt # SAEYgEd 9 AT AR (capital

requirement norms) @ 9=<4 # fag=m sifem fH-

Basel Il TF® WHR Basel 11 ¥ Feaw 2

RSEICRC] (Treasury Bills) STSIR H &1 & (recent)
I 9 guRl #1999 § g9smEud
Discuss the Assets Classification and provisioning norms

of a bank in the context of NPAs 4 7

Describe the various functions/roles performed by RBI

in Indian Banking and Financial System. . 8
st aREmfEl (vpas) B T F S
% gRamfy et 9 wEyE R (Assets
Classification and provisioning norms) T ﬁaﬁ?ﬁﬂ
HiTeTg |

RBI 511 YR df%7 9 fodfta o= & feg sm
o faf= wrl/sfrwet w1 av w9

(@)

(®)

(©)

(@)

(®)

. (o

Write

G

¢ T 3 995

Discuss the importance of Liquidity Adjustment Facility
(LAF) as an instrument of Liquidity Management in the

economy. 5

-Examine the lags observed in the operation of monetary

policy. 3

Describe the Multiple Indicator Approach used by RBI

for monetary policy formulation. 5

aqafsqaw ¥ o yIE ® TH TR &
3R R el GHMESH giaem (LAF) 1 HEd
%1 fad=" wifeTl

ﬁrf?a? Hifq & WA (operation) H ﬁf&ﬁ faerea
(lags) 1 TO&U HIFTI

RBI B Hifge Hifd fafor ¥g s9dm fRg T
Fge Hehad QiU (Multiple- Indicator Approach)
T U au‘:\ﬁnzl

short notes on any two of the following : 15

'Futures Contracts Vs Options Contracts in terms of

hedging risks

PT.O
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(i)

)

(8 %5
Simple Sum Monetary Aggregates Vs Weighted

Monetary Aggregates in respect of Conceptuallzatlon and

Operationalization.

Interest Rate Vs Monetary Stock as an intermediate;‘

target in monetary policy.

ﬁq%f@ﬁﬁﬁﬁﬁﬁa?wﬁ&mﬁwﬁm

fifry

()

(i)

(iii)

Sifem | 9@ (hedging) & e A ‘Fﬂ?‘m:

', 3133"%3[ (Futures Contracts) T oy 31337'9

~ (Options Contracts)

ST EIOTT (Conceptualization) &  gIred
(Operationalization) + gEry s i ARTHS
Hifger w9y (Simple Sum Monetary Aggregates) EEIL
i Aifsew ge (Welghted Monetary Agggregates)-

ﬁﬁmﬂ"rﬁ%mﬂaﬁaw%ﬁhmm
W W Afsd =iF |
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1. Do you think the Nehruvian Era (1950-64) was

able to meet the immediate challenges before
the Indian economy in 1947 ? Analyze some of
the perceived criticisms of the Nehru-Mahalnobis
strategy of industrialization. 8+7=15
T B AT © 6 A8® YA 1947 HRA™
arefergeen § (1950-64) F QRIT TepE gy
H GEAT B A GEH & 7 SRy &t
JearerEIad ITOFIN & HO-HAT  SArae
T fasawer AR

Critically evaluate the economic and political
narrative of the two broad periods of Indian
economy- (1) 1950-1980 and (2) 1980-2015. Is
it correct to say that divergence across state’s
per caplta GDP were much stronger in the post
economic reforms period than in the era of
Hindu growth rate ? 10+5=15

Wm%ﬂmﬁﬁ%eﬂ%aﬁ?
TSI ol 1 STereAeT s gedihd @Y (1)
1950- 1980@?11(2] 1980-2015 7 g8 HEl %f%s
B | T % G2 awfé‘?ﬁ g P
a‘s g F 3 ff
WW@%E@T% 7

. A very significant outcome from the trends in
savings and investment rates in Indian
economy is'that Indian economic growth has
been financed predominantly by domestic
savings. Analyze. How far would it be correct
to assert that economic reforms did bring about
a reduction in poverty ? Substantiate your
answer with facts. 8+7=15

2

Can Indian reap the benefits of Demographic
Dividends ? What does the available research
indicate regarding China-India comparison on
relationship between population dynamics and
economic growth in these economies ? 6+9=15

T ARG SRR AT B T o7 Thal & 7 -
ST STHY = SN WRG & S S
et o W orefogawenael ¥ enfde e &
drg qedf $ G F r G adr € 7

Given that Health is a major determinant of
employment opportunities, how do you account
for the inequities in access to health care
amongst different socio economic groups in
India ? What are the possible factors that
account for under nutrition in India ? List and
explain. 10+5=15
g5 3@q gC 6 WReg USFIR & Sfa@l & TH
frafes 8, o9 wa # &= @i
e waEl & g wree Yar A H_ STEHEe
H fFg s @ifea HGT ? 9RT | @d’rsm ®
I R BF-B o T 7 gEas B
TS |
3 P.T.O.



3103

6. Do you agree with the view that India’s
achievement in learning outcomes in the field of
primary education is still very unsatisfactory ?
Explain. Why do you.think that female labour force
participation became oné of the many factors that
led to jobless growth in India ? . 10+5=15
T N9 39 R § weua © % ol Rrr
%ﬂﬁaqwmqﬁgnﬁﬁ TR T AT ST o]

g@-wwaﬁmﬂaﬁmﬁﬁwwﬁ

7. How far would you agree that the rate of
poverty reduction has increased in the post-
reform period, compared to the previous
30-year period ? Explain. What do you observe
about India’s inequality by comparing the period
of 1990s with the earlier period ? 9+6=15
oY =8 19 o Rraer Teda § @ gaR & 30 a9
ueR i STy & gl A gurX & S6 ® T9d A
THE HH B @ oX H ghe g8 © ¢ gUid Hier
=T Sty T g § gee H ofary 1990 % AT
g‘m‘{ﬁ- I STIHCT & fawg H SATIRN R HAT
3 ?

8. Comparing the growth performance of India
and China essentially understanding different
patternéhand Institutions of these economies.
Comment. Why is it important to compare India
with itself also-? Eﬁ a;(g+;=15
ST RIS % AT G e hi HEE STEED -

%|MWIW®W_.WQW

FTAT G STETE B 7
4 ~ 2000
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(c) Attempt any three (3) questions from
Section A out of five (5) any two questions
out of three (3) in part B.

qus ‘v a9 (5)F O Bl & (3) w9+
%w%ww‘a'ﬁ?ﬁﬁ(a)ﬁﬁﬁﬁf
& (2) 999 B I« T

(d) There are no internal choices. All Parts of
the question attempted is compulsory.

SRe fqehea & B 1 e off e & usf
9 & I Afard ¥

(e) All questions carry equal marks, i.e.15.
gt g9l B gHT o T, ie.15.

Section - A
Tgorsg - H

Let the world consists of two economies China
and Argentina where only two commodities
Broccoli and Parsnip are consumed.China
requires 3 hours of labour to produce a unit of
Broccoli and 2 labour hours to produce a unit
of Parsnip and has 1200 units of labour.
Argentina on the other hand uses 5 and I labour
hours to produce one unit each of Broccoli and
Parsnip respectively and has 800 units of
labour. Let the world's relative demand of

2

3179

Broccoli be given by Demand for Broccoli/
Demand for Parsnip=Price of Parsnip/ Price of

Broccoli. Both countries are large enough to

affect the terms of trade.

T B frea & orefemawem =M oY STSiel &
afeqfer YT & oiel dad & a&gd siebiel 3
QR T ITERT fhar Sfar ¥ 1 F H sihiel @
U THE B SAET =Y B 3 gUS U AT &
IaET F | B 2 U Pl SETHAT Bl & A
i $ U =9 @ 1200 sHAT T gl X
ST HOer Ofd gHiE Sl ST g @&
IET B R 5 ofiT 1 H =9 T IYGRT HIcl &
AT SETeHr & 9 =H & 800 FHEBAT © | &l
Y A9 92 € B &AM & A B gHIGT HT
Thd 21 "ET % Sieplel @1 fasg amfe =5
STl B TET/IUNT B OHET=IAT B e/

STIehiell &l HHET B |

(a) Draw PPFs for both the countries.What will
be the relative prices of Broccoli in the

absence of trade in both the countries ?
3+3

3 PO,
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(b)

(c)

a‘ﬁ’i%&ﬁ%PPFaﬁrﬁa?aﬁ’r%ﬁﬁW

aﬁaﬁqﬁmﬁfﬁﬁsﬁaﬁvﬁ%ﬂﬁnﬁw
Bt ?

If both countries decide to trade, describe
the pattern of trade between them. 3

uﬁﬁ%ﬂtwwﬁrﬂa%%ﬁrm
= AR F GEAT B AT BT

Briefly explain the gains from trade for the
two countries. 4

A A9 B R AR A 2 A 5 dfre
o B |

"An economy faces trade-off between
consumption today and consumption in
future even in the absence of international
capital movements". Discuss this statement

in the light of Standard trade theory using
suitable diagrams. 8

“ofisfia goft nfashiarar & st & o
STdeeRen A HE IUART qur wfasy § gudnT
® 9= g @ ArEr wxar 7 SR T @
ST HIA I AHD AR g H aeprer
g9 HYA F fAd== BT

4

3179

(ii) "Market failures may always be dealt as

directly as possible." Examine this in the

context of application of import tariffs. 7

CSR STAHEET T AT Sl d% gvd &l
goqer ®9 O B B fRAr SEr =@’ | St
ugeh B STIIART & dad F gHHr JUEHT 6 |

Two economies, Ecuador and Aruba are
considering assisting their technical sector
for the production of a specific variant of
microphones. However, both the economies
are aware beforehand that either of them
can make profit if only one of them produces
it and both will have to incur losses in case
both gets into its production. Discuss the
production of this commodity in line with
the Brander-Spencer theory. Make use of
the payoff matrix to illustrate it in detail.

Are there any limitations to the above

theory ?
10

S PT.0O.
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(1i)

WW%W%%ﬁW—WﬁW
ﬁﬁﬂww;\}amﬁ%ﬁﬁ
& 0 & T w aw B e Ry A
@ﬁgﬁmwaﬁwﬁﬁm
w%ﬁqﬁlwwqu;ﬁgq
e @ s amen #ivm | swde
Frsia a $Ig gt & 2

Write a short note on Gravity model of

international trade. 5
AR AR F ToEHRIoT Jisd ux e
feoqoft ford |

Most of the economic theories explaining
the pattern of international trade assume
two countries to be different from each
other in some respect or the other for
beneficial trade to take place between them.
Paul Krugman, on the other hand while
explaining his theory of imperfect

6

3179

similar
ial trade

competition explains that
economies can also have benefic
due to the presence of economies of scale

(internal) and imperfect competition in an

industry. ' )
mgmzwfém%@ﬁagmﬂ%@w
T S =T @ e HXa § [ e
s &, e ST & e & at

ﬁl@fﬁﬁa@ﬁﬁ%%ﬂ?ﬂmmaﬁ
3 &y SEnT § orgel WfGAIAr qer ST
Ta B gfeed @ SuRERT % HROT ATHETAD

IR & T 8 |

In light of the above-mentioned theory,
bring out the long run equilibrium levels of
average cost, number of firms and price in

a closed economy. 6

IdFd artta fasig & asd H, Tk 49
arefeqaeenr @t Regfa # e dge |
aEd AN, BH @ AT a7 A B &AL Bl
T P |

7 PRI



3179

(b)

(c)

E - .

xp.l-aln f:hanges In this equilibrium
position, if any, in the event of such an
€conomy participates in free trade.

S
e aﬁmm q Ut oredemarer & wrlerd @y
Rafer §, afy i, S AT gikfRefy §
P AT HY | e
Hlustrate the relevance of Intra-industry
trade in economy. How is it different from
that of inter-industry trade ?
QEE-BTEjEIEITﬂTﬁGT*ﬁ:~G_&'ﬁ1TW%
ATARTRCT Bl T HY | g8 S-S q ey
g =1 B 7

What do you understand by the concept of
Metzler's Paradox ? o

AR & fOOarT & oTguRen § A9 @
e © 7

"International factor mobility and free trade
can substitute for each other". Discuss.
5

dﬁﬁ@ﬂmaﬁnﬁrsﬁamwgzﬁwazﬁ
T W AT Y g ¥ fAges R
8

¥

3179

(iii) Give a brief account of Leontief's paradox.

fergifoeus & feararHra @l dfere fea<o g

Section - B

gvs - 9

6. (i) ICICI Prudential offers an investment

scheme for its investors offering 10% rate
of interest in INR for one year, USA deposits
on the other hand offers a rate interest of
29 in dollar on dollar deposits for one
year.$1 can be exchanged for S0 rupees
today and is expected to be 55 rupees in
one year. Which one of the two investments
an investor would prefer if his investment
decision is based only on the rate of return

on the two investments ? 6

arEceTEeTs wERmw oraw fraweedl &
o ¥ F R adg 599§ 10% S #
eX UX UH I AeTr @ Y Rl ©,
T WH g T U T gy & o SR
SR 9 A< T 2% AT & Bl USRS

9 Pa.O.



3179

aﬂ?ﬁ%laﬂﬁf$l,50m%%ﬁﬁq&ﬁ.
%mmm%wwa&ﬁ%%mﬁ

BN ST ¥ Rwmeet At faw B 4

Discuss the impact of change in money |
supply from Federal Reserve Bank and |

European Central Bank on Dollar/Euro
exchange rate using suitable diagrams.

9
/
T A L o

%%%Wﬁﬁmﬁ%m
IEECER-Td EB[

Explain the impact of permanent change
in monetary policy on exchange rate of an
economy under perfectly flexible exchange
rate and perfect capital mobility. 8

oot s Rfe & qor oof Soft TRt

® ST Tsh oreiegaer & faffeg 8¢ Oy

;ﬁiﬁﬁﬁrﬁw@qﬁaﬁ?%nmzﬁrw
|

10

3179

(i) If an economy operates at full employment

level of output, is it true that expansionary
fiscal policy of permanent nature will leave
the state of economy unchanged where
exchange rate is perfectly flexible and

capital is perfectly mobile ? 7

afr e arefeqaRem SeET & YOI ST WX
gt qReEnfea & <& B o4 @ ww @@ T %
cor phy 3 PR TR ey sreferae
# Refy @1 omRafda 81 W SwEl fafE
¢ gofe: drerelier ¥ e ot gofa: wfesfier & 7

Explain using suitable diagram how capital

flights in the context of expectations
relating to devaluation under the fixed

exchange rate regime. 10

St a6 T ITENT A Y fqa=E B fH
9 Rex fafra aX saaeer & ofrid STaged=
q defeaa dvmerett & e § Iei &1 garg=
BT B

11 g
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(ii) Briefly explain the concept of Offshore

banking and Offshore currency trading

5
STqETeT 1 der § fagEd wi |

1
° 2500
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3361 2 e 3
ider a pollution problem involving a Paper mjl

(a) Cons d on a river and a commercial salmpn fishery (3r)
:;cei::ing on the same river. The ﬁshery can }Ocate at
one of the two locations-upstream (abo?e the’ mill) or
downstream (in the polluted part of the r:ver?. Pollution
lower profits for the fishery: without pollution, profits

re $300 upstream and $500 downstream: with pollution,
a

Ts WH&‘TW{W@H‘W&W%WG@:@“_ b v

Wﬁm%awwﬂm%wﬁmmmwﬁw
aﬂi%mrw@m-@r?rwﬁfif%ﬁﬂﬁwmw
TN B W B~ W D T} sy (R 3 wet) s
T H PR s (ﬁa%m)aﬁw@n@a%lm

: $200 upstream and $100 downstream. The ; ARl t‘jm’— ® W ﬁu‘fﬁq RUGUR S c O R T Y
'pr-jllﬁtsarzessoo in profits, and a technology exists for i B ?R : S 300 Wiee B - ™ w f?ﬁﬁ-‘f TR w
21 b;ila a tféatﬁlent plant at the site that completely :;i :ﬂ_{ 1;'%:\:}1%]22 :;Tzi‘:;fj :;:: 200
: eliminaté‘s the pollution, but at a cost of :$200. There e & 3 20 S w8 Slcalspmios N
are two possible assignments of property rights: (i) the s . Uy
fishery has a right to clean air and (ii) the mill has the | WE:IET S T W T g ¥ Ry
right to pollute the river. (2+3+4) T O WE T B T 2 1 weahy w5 T R %

TR T B (%) el o =t oo @y W sy
(W) B R R R w2

(i) What is the socially efficient outcome?

i e outcomes under two different (1) amfSreR wemr aRom =g @ 7

(i) What are th _ ' _
property rights regime, when there i3 (if) STt Wt Wik = wovr w8 @ 7 ol % @
possibility of bargaining? oTEl G 8§ 7 39 =

mﬁra&maﬁwﬁwwgﬁf?

' = hen the
(iii) How does your answer to (ii) changes W

: 9
two firms can bargain costlessly?

(ﬁ)ﬁ'%ﬂ?ﬁ#ﬁﬂ‘%@@m%@ﬁqﬁ@%%?ﬁ
ST (ii) I¥R %9 waR wRaffq swr 7

from other types
(6) (%) SIS SR e W & et W R T ¥ R e
= 2 7 v S @ e ¥ o ay

(b) How pecuniary externality is different

: : : 1e.
of externalities. Discuss using an examp

2.1.0.
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3361 /
re large number of commuters who demde‘ to Use this model to depict the individual’s equilibrium
2. (a) There ; their car or a bus. Assuming that commuting choice of number of hours of labour when there exists
use either : ith the proportion of 3 ] hich i i
is increasing W a threshold level of income be OW which income is
time: by bus l's l car (traffic congestion). Let the untaxed? (7)
commuters :zngy bus be B(x) =40 +20x and the |
> i : ! . i .
commut.mg - ar be C(x) = 20 + 60x, where x is (57) =& e ¥ s1r- e T 9w ¥ o A T I TN s
time by ¢
commuting f commuters taking their car, 0 <x <1.
co -

the proportion 0

wwmﬁmﬁﬁﬁﬁﬁumﬁmﬁu&r
ﬁﬁ?tﬂgwﬁqaﬁw%m—maﬂ%wwm%
mmmaﬂ%aﬁ%&wimé(maﬁga)w
& w0 & - w3 o Ty B(x) =40 +20x ? wur

FR A S T T T C(x) =20+ 60x ? w&f x =R
hat is the proportion of car.users that minimize ¥ A T ERE arey W I 2, O<x<]
i) What i

g e - "

i at is the proportion of commuters who.\n-rﬂ

o b their car if everyone is taking her decision
b inimi own
, dependently so as to minimize her
indep

commuting time?

; (2+2)
the total commuting time? (i) o S-S Y B T W fore s
Rat Race problem of externality. “) W S T Folr 9 ¥ @ w3 ST - ST
: he Ra : =
(b) Explain t : . T T W SO T BT 7
¥ e 1n t ]
. ing diagram the effect of }n?rea;e using .
(c) Investigate uslabour supply and. before tax mcc'c(msurmr (i) TR & I\ For qey w5 JAIE T OENT @
wage rate on del of consumer choice where — AT~ & TG Ty b SR TC
€
2 standa.rd = f preferences over consﬂn'llp |
has a given set 0 R - (%) et R X @ w5 HifT |
leisure with utility function g _
= 1 [ ;
U=Ux,L-)) = UKD Iyandxis (7) aﬁwwﬁwmwmaﬂ%@aﬁ@%
r supp

o ™ ¥ T S o s WA D 92T B W
L is total time endowment, / i =

d g_l_f_<0_

I -T.O,
ax >
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|

1 Frem X | SR O F WA ITHE w Ry e
ST TE I T YEE o WE E9 YR Rar wmar 2.

U=Ux,L-0) = Ux, )
wef L s« @ B 2, 1 sm o R 9o x oo v

8 o v o
ox

ol

mmmuﬁmmﬂgwﬁa% M T UV W WIET

TE N TERE W I I w A =R R 2 R
Y I@ W T A AT TR |

3. (a) Compare the tax schedule and the average and marginal
tax rates of a proportional and a Progressive flat rate
income tax. Support your answer with a diagram.

™

(b) Derive the numerical expression for calculating dead |

weight loss associated with commodity taxation, clearly |

specifying the various elements involved. 4

(¢) Explain the decentralization theorem in context of |

welfare gains from multiple fiscal units. 4)

(5) s o T T R e s

Aaw = TE G S A g i |

3361
(%)
(%)
4.

T W RO ¥ wEfuw aafs ef & o & frg
FEd yedT e difog | T mie Rt e @
e R afsw |

Ry oSy A A B 9 el & gy ¥ Aewa
Wy = =R W™

b=

(a) How is lump sum tax different from per unit commodity

tax? Compare between a lump-sum tax and a commodity

tax on a good when the two tax instruments raise the

~ same level of revenue. Explain your answer in terms of

(®)

income effect substitution effect and the deadweight
loss. Use diagram to support your answer. (8)

Explain with diagram how the provision of a public good
takes place. What is the unique feature of such provision

vis-a-vis the provision of a private good? (7)

(3r) Wit g TEgE ¥ UF AW AW DY A 2 7 TS T W

TE qEE W ger w W A E WEuE ¥ TR
o e T e 2 1 STy Wi W gE 3R

Y B Ig A TEE IR Y | AN ST D U A FAR@l
H WA W |

T e St T ¥ wen WO Ry e awg
WA W AEad wEer Bt e @ el ¥ w2 0

P.T.O.
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(a) Suppose the demand curve for movie tickets hag Unitary

(b)

price elasticity and the supply curve is perfectly price

elastic. If 3 million tickets are currently sold at g price

of §5, approximately how much tax revenve could the

government generate from a $1 specific tax levied op
the producers? Plot the demand and supply curve and |
show the equilibrium.

)
Highlight the genesis of Goods and Services Tax in India.

According to Surajit Das how this new tax regime

addresses the issues an state’s autonomy, sharing of

tax burden between consumers and producers and
revenue neutral rates.

(10)

(3r) i ff Rewrer & el o Wi a% 2 v o gEE

2 3R I o% UM |eeR @ Al 3 fafere Redl @ s

R D e U 91 Sl B | WEHR 1 SR o Aftne &)
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6.

TR TR - S AR 3 7 W e i A

WY va ¥qem @ Rany |
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1 IEH T UG D A WK R T T I

qeer A ) W e FER A B ww

(a) Write short notes: (4+4)
(i) Taxation of inelastic factors of production

(ii) Taxation of perfectly elastic factors

(b) According to M. Govinda Rao and Sudhanshu Kumar

(7)

what ails the present Indian tax system?
(3r) dftra Roht o .
(i) ST & SA=ER 9e&! & FRY

(ii) Tofe: AR W w1 R

(F) v M= T vE qurg R D e 9 SR 9w
TR T W 7

(a) Explain with the help of an economic model how

existence of bureaucracy can lead to excessive public
expenditure. (7

(b) Explain the tax compliance game with reference to audit
and evasion decision.

@®)

(57) onfder wiew it e A wwEr W fE DY Ao 0
T sl adee @ @ w3 2
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